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SPIROC 2B (Analog HCAL)

o external trigger or auto-trigger (signal)

 Bi-gain (autogain)
e buffer size:16 (columns)
e 2° 36 channels

» Charges/Times

» High/Low gain

CE I GEREL Rharpe s e Chey 35 CL2 )
EIE e [

006 [H] " Ture mpasure Chn 35 (1240,
GO0y HT - Tine f:flEﬂ'.Sl]fE:E:hﬂ'U:E:lltlit:l:f -

1168

SCA
Cobrm 15




Some histos
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Summary
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Summary
Auto-trigger (signal in channel 19)
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column

Zeros (December)
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Stability
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mean Channel 21 Column 3

O

2 260

259

258

Tt

257

mean Channel 30 Column 3

e —

mean Channel 13 Column 3

265
264.5
264
263.5
263
262.5 v
262
261.5

261

265.5
265
264.5
264
263.5
263
262.5

Same column

i

0 2000 4000 6000 8000 I{OOOO 12000 14000 16000 18000 20000




ADC
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Linearity

Low Gain Channel 19 Column 4
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Linearity
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High Gain Channel 19 Column 0

Linearity

Ind Chain 1 Channel 19 Column 0
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Work in progress....

Thanks for your attention



